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1) CREATE TABLE S{
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SNo INT PRIMARY KEY,
SN CHAR(30),
SA INT,
S CHAR(20)
}s
2) CREATE TABLE C{
CNo INT PRIMARY KLY,
CN CHAR(20),
CC INT
b
3)CREATE TABLE SC{
SNo INT,
CNo INT,
G INT,
PRIMARY KEY(SNo,CNo),
FOREIGN KEY(SNo) REFERENCES S(SNo),
FOREIGN KEY{(CNo) REFERENCES C{(CNo)
b
=.(#84)
SELECT SNo,SUM(G)
FROM SC
GROUP BY SNo
ORDER BY SUM(G) DESC,SNo;
M.(g124)
1) #8H : EXEC SQL BEGIN DECLARE SECTION;
char title[30];
int length;

char type[10];
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int year;
char SQILSTATE[6];
EXEC SQL END DECLARE SECTION;
2) BRAH :title: = *FHL;
length, =120;
type: ="color’;
year; =2004;
3) # A :EXEC SQL INSERT INTO Movie
VALUESC( title, : length, : type, ; year);
H.(BMNR LG, HEB )
(O
SELECT Cno, AVG(Grade)
FROM SC,Course
WHERE SC. Cno=Course. Cno AND Teacher LIKE ‘3 %
GROUP BY Cno;
2)
SELECT Cno,COUNT( %)
FROM SC
GROUP BY Cno
ORDER BY COUNT( % ) DESC,Cno;
A(BMNE 6,2 12 5)

(1) TTSDept,SAge( OSNo=200100111{Student ))

@){t®] ( Is) (Student(s) A t[1]=s[4] A t[2]=s[3] A s[1] =200100111 )}
tA(BMEH ,HE125)

1) TCScore (O SName=*F ¥’ (Student ) D] SC D] (OCName=*it+E ¥4 K5’ (Course)))
2)

S(D, A)< Student(SNo,SN, A,D)AND SNo=20020202
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13) COMMIT
14) UNLOCK(A)
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(D
interface Product
( extent Products

key model )
{

attribute integer model;

attribute string maker;
attribute string type;
attribute real price;

1

/3

interface PC: Product
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( extent PCs)

attribute integer speed;
attribute integer ram;
attribute integer hd;

attribute string cd;

(2)
D
SELECT p. model
FROM PCs p
WHERE p. price<(8000;
2)
SELECT p. model
FROM PCs p
WHERE p. ram>=64 AND p. hd>=10;
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